

$a_n = \frac{1}{p}$ و $a_1 = \frac{1}{p}$ و $a_2 = \frac{1}{p^2}$ و $a_3 = \frac{1}{p^3}$ و ... $a_n = \frac{1}{p^n}$
 $a_n = a_1 \times q^{n-1}$
 $a_{10} = \frac{1}{p} \times p^9 = p^8$ (الف)
 $\frac{a_{14}}{a_{13}} = q^k = p^k = 14$ (ب)
 $\sqrt{\frac{a_k \times a_{10}}{a_v \times a_v}} = a_v = \frac{1}{p} \times p^v$ (ج)
 $\Rightarrow p^{n-1} = p^8$ $n-1=8$ $n=9$

$\frac{a_1}{a_9} = \frac{a_4}{1^4} = q^8 = 1$ $q = 1$
 $q^9 \times a_1 = a_{10} = a_4 \times 1^4 = 1 \times 1^4$

$a_1 \times a_2 \times a_3 \times a_4 \times a_5 \times a_6 \times a_7 \times a_8 \times a_9 \times a_{10} = p^{45} = (a_{10})^5 = 10^5 \Rightarrow a_{10} = \sqrt[5]{10}$ (الف)

$a_1 \times a_9 = (a_{10})^2 = 10^2$ (ب)

$(\sqrt[p]{p})^n = p^a \times p^b = p^{a+b} = p^a$ $a+b=a$

$\frac{a+b}{p} = \frac{a}{p} = 1/a$

$a_p = 1-n$ $a_v = n$ $a_{11} = 1+n$ $a_p \times a_{11} = (a_v)^n$
 $n^N = (1-n)(1+n) = 1-n^2 \Rightarrow 1-n^2 = 1 \Rightarrow n^2 = \frac{1}{N}$
 $\Rightarrow n = \pm \sqrt{\frac{1}{N}}$ $\frac{\sqrt{N}}{N}$, $-\frac{\sqrt{N}}{N}$

$$a_1 + a_r = a(1+q^r) = 11 \quad a_r + a_s = aq(1+q) = 12 \quad \text{جواب آخر}$$

$$\frac{a(1+q^r)}{a(1+q)} = \frac{11}{12} = \frac{(1+q^r)}{(1+q)} \Rightarrow (1+q^r)(q^N - q + 1) = (1+q)(q^N - q + 1)$$

$$q(1+q) = 12 \Rightarrow 3q^2 - 10q + 3 = 0 \Rightarrow 3q^2 - 9q - q + 3 = 0 \Rightarrow 3q(q-3) - 1(q-3) = 0 \Rightarrow (q-3)(3q-1) = 0$$

$$\Rightarrow q = 3 \text{ or } q = \frac{1}{3}$$

$$a_1 = 11 - a_r = 11 - 12 = -1 \quad a_1 = 11 - a_s = 11 - 12 = -1$$

$$a_1 = -1, a_2 = -3, a_3 = -9, \dots$$

$$a_1 + a_2 + a_3 = -1 - 3 - 9 = -13$$

$$a_1 + a_2 + a_3 = -13$$

$$a_1 + a_2 + a_3 = -13$$

$$a_1 + a_2 + a_3 = -13$$

$$a_1 + a_2 + a_3 = -13$$

$$a_1 + a_2 + a_3 = -13$$

$$a_1 + a_2 + a_3 = -13$$

$$a_1 + a_2 + a_3 = -13$$

$$a_1 + a_2 + a_3 = -13$$

$$a_1 + a_2 + a_3 = -13$$

$$a_1 + a_2 + a_3 = -13$$

$$a_1 + a_2 + a_3 = -13$$

$$a_1 + a_2 + a_3 = -13$$

$$a_1 + a_2 + a_3 = -13$$

$$a_1 + a_2 + a_3 = -13$$

$$a_1 + a_2 + a_3 = -13$$

$$a_1 + a_2 + a_3 = -13$$

$$a_1 + a_2 + a_3 = -13$$

$$a_1 + a_2 + a_3 = -13$$

$$a_1 + a_2 + a_3 = -13$$

$$a_1 + a_2 + a_3 = -13$$

$$a_1 + a_2 + a_3 = -13$$

$$a_1 + a_2 + a_3 = -13$$

جواب قسمت ب

سوال ۱۰) مجموع جمله‌های دنباله هندسی

$$S_n = a + aq + aq^2 + \dots + aq^{n-1}$$

$$S_n \times q = aq + aq^2 + aq^3 + \dots + aq^n$$

$$S_n - S_n \times q = a - aq^n = a(1 - q^n)$$

$$S_n(1 - q) = a(1 - q^n)$$

$$\Rightarrow S_n = \frac{a(1 - q^n)}{(1 - q)} = a \times \frac{(q^n - 1)}{(q - 1)}$$